AIAPGET 2020 Unani

Topic:- AIAPGET_Unani_New
1) Umoor-e-Tabiya are the factors on which human body exists.’
(A) Arkan, Mizaj. Akhlat
(B) Nabz, Bol. Baraz
(C) Quwa and afal
(D) Mizaj and Kafiyaat
(E) Aza-e-badan only

Choose the correct answer from the option given below:
R B3 200 -2 )le 9 )b B wilwil gz g7 g jgel 09 b gl

blilsl zlie 551 (A)
b9 des yaii (B)
Jl=sl 548 (C)
Sl 2he (D)
o4 cbiacl Wpo (E)
Dz oplion aumuo aw re Jud 7)o
[Question ID = 755]

T (A) only

[Option ID = 3017]

2. (A)and (D) only

[Option ID = 3018]

3. (A) and (C) only

[Option ID = 3019]
4. (E) and (D) only

[Option ID = 3020]

2) A’dal-fil-Qisma relates to :
S §l=io S uS rowdll o Jac

[Question ID = 756]
1. Mizaj Motadil Haqeeqi / &,i> Juizse glyo

[Option ID = 3021]

2. Mizaj Motadil Tibbi / _3b Jyize glyo

[Option ID = 3022]
3. Both / ugig2

[Option ID = 3023]
4. Luck by chance / w Crawid

[Option ID = 3024]

3) Al-Qanoon Fil-Tib is an original work of :
?ﬁ@ﬁﬁh|@|@o§@|

[Question ID = 757]
1. Ali bin Abbas Majusi /" sweze ulic ;1 e

[Option ID = 3025]
2. Abu Ali Husain Bin Abdullah Sina / liww U1 e oy gaws wle gl

[Option ID = 3026]
3. Shamsuddin Chugmani / iz (pll uad

[Option ID = 3027]



4. Alauddin Qureshi / iy 36 cpl eMe

[Option ID = 3028]
4) Individuals having Damvi Temperament have pulse :
(A) Qawiand Azeem
(B) Qawi and Sarie
(C) Batiand Zaeef
(D) Qawi and Zaeef
(E) Sarie and Bati
Choose the correct answer from the option given below:
St wis suS padi oS poladl gliall g0
eshc jol sob (A)
& )9l 698 (B)
ST T JUN-TR (@)
oo gl g8 (D)
by ol &2y (B)

Doz option muzuo aw e J1d 70

[Question ID = 758]

1. (B) only
[Option ID = 3029]
2. (C) only

[Option ID = 3030]
3. (A) and (B) only

[Option ID = 3031]
4. (A) only

[Option ID = 3032]

5) Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Sin-e-Zihaq and Sin-e-Fata are subtypes of Sin-e-Namu.

Reason R: Because, both in Sin-e-Zihaq and Sin-e-Fata. growth and development of
individual are progressive towards adulthood.

In light of the above statements, choose the correct answer from the options given below

-2 W8 S Reason (R) ¢S < jwgs yol — WS LS Assertion (A) S Sl yu bl g3 jue Jud

Assertion (A) :

-k pluidl S 5ol G Ji6 G ol Gl G

Reason (R) :
= wig 0308 )b S Biesly (8T ilawz gl lad gt e 9igd LD G gl Gl paw ~STgsS

Sz option BlSuo aw Lo options é U U o (niidig) S Sl YU ~=>)lio

[Question ID = 759]
1. Both A and R are true and R is the correct explanation of A /:J U)S Szbog pusus oS (R) o (A) )gl o zaw ugigns (R))gl (A)

[Option ID = 3033]
2. Both A and R are true and R 1s NOT the correct explanation of A /,:,_r G)S 1 Sobiog puzo oS (R) 0 (A) S opw 2w usigy (R) gl (A)

[Option ID = 3034]
3. A s true but R is false / hle R) oSu) s g (A)

[Option ID = 3035]
4. AisfalsebutRis tme/ zw (R) jgl s hlc (A)

[Option ID = 3036]



6) Following are some statements about Temperament :

(A) Motadil Nau’ and Motadil Sinfi are types of Motadil Tibbi

(B) Aza-e-Mufrid and Aza-e-Murakkab are types of Mizaj Motadil Hageeqi
(C) Motadil Hageeqi is dominant on earth

(D) Simple intermixing occurs in Mizaj Motadil Tibbi and Hagqeeqi

(E) No intermixing occurs in Mizaj Motadil Tibbi

Choose the correct answer from the options given below:

Uqubl_y_kqalm.oéa[}numd_u

oR plwdl S (ib JaiRe glie «nbio JAiRe gl §oi JLize 2lie (A)

ott pludl S (iii> J1i%e gho «iSpe chacl 4ol 3480 chiacl (B)

o 00l cw 1oy gy wilaii> Jaive glye (C)

R b S e i S ool gliiel Gilis Jaineg wib Jaive ghe (D)

Ugs sl 2ol wisS oo JuSiiti S b Jaize glje ()

[Question ID = 760]
T (B) and (C) are correct

[Option ID = 3037]
2. (C) and (E) are correct

[Option ID = 3038]
3. Only (C) is correct

[Option ID = 3039]
4. Only (A) is correct

[Option ID = 3040]

7) In the lungs alveoli’ Ruh gets separated from the air and absorbed into the blood, by which of the
following Quwa?

St gy 03z yao 09> So N> wl g1 29) o alveoli S nyy ~y)3 S Db S

[Question ID = 761]
1. Quwat-e-Munfaivla / l2dis 90

[Option ID = 3041]
2. Quwat-e-nafsaniyah / ~iliudi Do

[Option ID = 3042]
3. Quwat-e-Shaukiva /N_u':g;h Jigh

[Option ID = 3043]
4. Quwat-e-Mumayizah / 0)ian Jigh

[Option ID = 3044]

8) Match List I with List IT

ListI List IT

A. Superior epigastric vessels|[I.  Oesophageal opening of diaphragm
B. Left vagus nerve II. Aortic opening of diaphragm

C. Azygose vein II1. Vena-caval opening of diaphragm
‘D. Right phrenic nerve IV. Lary’s space

Choose the correct answer from the options given below:

¢ il e Sl ey g S wulgs

Il Ei) | Eranl
yo il (1) e wagw I Goc (A)
bygl ~udi (1) &zly cuac LU (B)
gzl a3 (1) 356 1359 ()

Laryc\ls (IV) wathils cuac Ll (D)



Dotz Olg s je piidigy WS S YU ~>)ie

[Question ID = 762]

" (A)-AV). B)-(D). (O)-D. (D))
[Option ID = 3045]

2. (A)-(ID. (B)-(D. (C)-(ID). (D)-IV)
[Option ID = 3046]

3 (A)-(IV). (B)-(I). (O)-(D). (D)-(1ID)
[Option ID = 3047]

4 (A)-D. (B)-(II). (C)-(IV). (D)-(TIT)

[Option ID = 3048]

9)  Match List I with List II

ListI List IT

A. Vomerovaginal canal I. Internal carotid artery

B. Carotid canal II. Mandibular nerve

C. Foramen ovale III. Spinal accessory nerve

ED. Foramen magnum  IV. Pharyngeal vessels and nerves

Choose the correct answer from the options given below:

: il aw Erad g oS Eu iy

I Eud | ol
gyl wilew gl s (1) $da sy LS (A)

w36 wuac (1) wiluw 8Ls (B)
ol polal cuac (1) il 86 (C)
i e ~ashe il (D)

otz Vlgz s je wdiligy WS Ewd YU~z lio

[Question ID = 763]

- (A)-(D). (B)-ID). (C)-(IID). (D)-(IV)
[Option ID = 3049]

2. (A)-(IV). (B)-(D). (C)-(1D). (D)-(IIT)
[Option ID = 3050]

3 (A)-(ID). (B)-(IID). (C)-(IV). (D)-()
[Option ID = 3051]

4 (A)-(II). (B)-(II). (C)-(D. (D)-(IV)

[Option ID = 3052]
10) Following structure passes through the superior orbital fissure exeept :

s a0Me uw wI)S ale Ui 20 aw Ule $yzme w2y

[Question ID = 764]
1. Nasociliary nerve / il Guds Cuac

[Option ID = 3053]

2. Abducent nerve / Aol 33%10 wnc
[Option ID = 3054]

3. Optic nerve / Gy wbac

[Option ID = 3055]
4. Inferior ophthalmic vein / Jawl sige 159

[Option ID = 3056]

1) Given below are two statements

Statement I: The ethemoidal sinuses are located within the lateral part of ethemoidal bone. It 1s
divided into anterior. middle and posterior groups. All sinuses open into middle meatus of nose
except posterior which opens into superior meatus.

Statement II: The middle group of ethemoidal air sinuses opens into the ethemoidal bulla. Each
group has one large and 4-6 small sinuses. The anterior group opens into sphenoethemoidal recess.



In light of the above statements. choose the correct answer from the options given below

ot Ol g3 e Jud

= A 1T

e Groups o ny .t 8lg iilz gy S iltuas alac (illas >
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[Question ID = 765]
1. Both Statement I and Statement II are true/ ol o yoigs - gl gl - glo

[Option ID = 3057]
2. Both Statement I and Statement IT are falsc/,_}_x_,l hle ;qi90 II- 5lu ygl |- lu

[Option ID = 3058]
3. Statement I is correct but Statement II is false /:; hle lI- 3l S o g |- ly

[Option ID = 3059]
4. Statement Iis incorreet but Statement I is true /' zyzon - gy oSW o ble |- gl

[Option ID = 3060]

12) Following nerves are closely related to the Humerus except :

t g wipS) Jladl agyd aw suac phc cunc B3 g o

[Question ID = 766]
1. Ulnar nerve behind medial epicondyle / — 138 ww _g=u S Medial epicondyle 1) uac

[Option ID = 3061]
2. Median nerve behind lateral epicondy]e/:g )33 ww —azu S Lateral epicondyle hwg cunc

[Option ID = 3062]
3. Radial nerve in the spiral groove / - |_'|'J)§ aw speS ulje speS Luac
[Option ID = 3063]
4. Axillary nerve behind surgical neck / ) |_-,-J)5 a4z S woly> Gic il cuac

[Option ID = 3064]

13)
Given below are two statements

Statement I: The right coronary artery arises from anterior aortic sinus and left coronary artery
from left anterior aortic sinus. The posterior 1/3™ of inter-ventricular septum is supplied by left

coronary artery.

Statement IT: The right coronary artery arises from left posterior aortic sinus and supplies the left
atrium. right ventricle and AV bundle.

In light of the above statements, choose the correct answer from the options given below
tos Dbl 93 e Jud
- LJI-'-'

wilyd Syl Mgz 8 cuihdl o Jols - ilSG aw Left anterior aortic sinus GdulS1 oy 65U gl IS5 w Anterior aortic sinus GdylSI Gl pd slo
=2 Gl Gy cw o lilST Gl s il cans

- gl
et IS ihep S AV bundle gilw S oy uil gl 31 il el o IISS Lw Left posterior aortic sinus ST U i Ll

-tz Option ()7 fgabge cw yo i3 pae Liidlg) LS DUl Wb ~z) e

[Question ID = 767]
1. Both Statement I and Statement I are rruc/”H uzo gaigd- I ol yel -1 Al



[Option ID = 3065]
2. Both Statement I and Statement II are false oit ble yoiga- 1l Hlu 9l -1 gl

[Option ID = 3066]
3. Statement I is correct but Statement ITis false /' ble— 11 ylu Sy s aumeo -1 gly

[Option ID = 3067]
4. Statement I is incorrect but Statement Il is true " _, ol gy oS o hle -l gl

[Option ID = 3068]

14)  Given below are two statements

Statement I: The obturator nerve is a branch of lumber plexus. It ends by dividing into anterior
and posterior divisions. It supplies pectineus. adductor magnus, adductor brevis and rectus femoris.

Statement II: The obturator arises from ventral rami of L2, L3 and L4 segments of spinal cord. It
runs in the lateral wall of pelvis to obturator foramen and supplies hip joint.

In light of the above statements, choose the correcr answer from the options given below
e Silil 93 o Jid
HE UI_U

et ligy puniiio o chzl 1240 jgl pado ~y gl 2l w3 ~ihd oy oolw Cunc
Dol Jad gy Dlbac Jlg Jly gy cw gl

s~gdzb ragfiiue jgl 0,000 g Alygb ~ayie

M | e I
- 6)S jiygp oS nile (hndo gl g lilz yao leud g S aile (g S5 aw g plie S 12, L3 and L4 a3l wunc

-4z OptioN gy 47 Eg090 cw yao J13 o wlidigy &S DUl Wb ~2)lie

[Question ID = 768]
- Both Statement I and Statement IT are true/UJ_-} o ygigd- Il 5lu jel -1 gl

[Option ID = 3069]
2. Both Statement I and Statement IT are false /UJ.‘I ble jgiga- 11 lu jgl -1 lu

[Option ID = 3070]
3. Statement Lis correct but Statement I is false /' _ hle— 1l g Sy o juzo -1 glo

[Option ID = 3071]
4. Statement I is incorrect but Statement I is true / —ramn=ll gl oSy ble-T Glu

[Option ID = 3072]

15)  Acromegaly is caused by :

: = gy cuw IS Acromegaly

[Question ID = 769]
1. Excess of cortisol / wislj S Cortisol

[Option ID = 3073]
2. Lack of cor‘risol/u\nj S Cortisol

[Option ID = 3074]
3. Excess of growth hormone / wisl) S Growth hormone

[Option ID = 3075]
4. Lack of growth hormone / waS S Growth hormone

[Option ID = 3076]

16) What is the normal intraocular pressure in mmHg?

¢ Uy LS Intraocular Pressure sub

[Question ID = 770]
. 8/mmHg A
[Option ID = 3077]
2. 15,/ mmHg 0
[Option ID = 3078]
3. 25/mmHg T0
[Option ID = 3079]
430 / mmHg I’



[Option ID = 3080]

17)  Given below are two statements. one is labelled as Assertion A and the other is labelled as Reason
R

Assertion A : Liver disease can decrease the concentration of circulating fibrinogen in blood.
Reason R : Fibrinogen is formed in the Liver.

In light of the above statements, choose the correct answer from the options given below

1 W8 IS Reason (R) oS «_jwgs jgl Assertion (A) o5 Syl ju 55 glu 95 i

Assertion (A) :

ey UJS_uJEH pS J|_lﬁ,o s Fibrinogen o 08> L-J|J9"‘ o YL l)bl)-"l

Reason (R):
~d wigy e 1S 1gi S Fibrinogen

S wxiie option amo aw 1e Options é S 2 o gy S Dbl Vb 3 j1ie

[Question ID = 771]
1. Both A and R are true and R is the correct explanation of A / - byS Osbibg quses oS (R) « (A) jgl wum 2w ygigd  (R)gl (A)

[Option ID = 3081] R
2. Both A and R are true but R is NOT the correct explanation ofA/_:; G)S Jud Ozbiog pusuo oS (R) ¢ (A) oSy gl g ugign (R) gl (A)

[Option ID = 3082]
3. AistruebutRis false/bk (R) oS}y g (A)

[Option ID = 3083]
4. Ais false but R is true /&—“J (R) 5! —y ble (A)

[Option ID = 3084]

18)  Match List I with List IT

ListI List IT

A. Perimetry I. Hearing abnormalities
B. Ishihara charts  [II. Field of vision

C. Tonometry III. Colour blindness

|D‘ Audiogram !IV Intraocular pressure

Choose the correct answer from the options given below:

: o2sS Vo aw Listll 1§ Listl

List | List II
(A) Perimetry () Hearing abnormalities
(B) Ishihara charts (Il)  Field of vision
(C) Tonometry () Colour blindness
(D) Audiogram (IV) Intraocular pressure

1 pdizoption ausuo aw e i3~z jiie

[Question ID = 772]

1 (AHD. (B)-1D). (O)-D). (D)-(IV)
[Option ID = 3085]

2 (A)-(1D). (B)~(II). (C)~(IV), (D)-(T)
[Option ID = 3086]

3 (A)-(TID). (B)-(ID). (C)-(D). (D)-(IV)
[Option ID = 3087]

4 (A)-(IV). (B)-(D). (O)-(1D). (D)-(III)
[Option ID = 3088]
19) Arrange the following changes in sequence from beginning to end of the pro

(A) Muscle contraction

Aty - o~ g W - . q . R



(b}l Releasc 06 calelin 1015 DY 5arcoplasiiic reficiiiiinm
(C) Depolarization of Muscle fibres
(D) Release of acetylcholine at neuromuscular junction

(E) Binding of calcium with troponin C
D oY pae iy o S5 55T w Eord oS paalia i3 a2)aio

(A)  Muscle contraction

(B) Release of calcium ions by sarcoplasmic reticulum
(C) Depolarization of Muscle fibres

(D) Release of acetylcholine at neuromuscular junction

(E)  Binding of calcium with troponin C

bz wlez o aw pie Jud nz)lie

[Question ID = 773]

- (E). (D). (). (B). (4)
[Option ID = 3089]

2 (B). (C). (D). (B). (A)
[Option ID = 3090]

3 (C). (B). (D). (B). (A)
[Option ID = 3091]

4. (D). (C). (B). (E). (&)
[Option ID = 3092]
20) Given below are two statements

Statement I: The only means by which impulses ordinarily ean pass from atria into the ventricles
is through the A-V bundle.

Statement IT: Compression of the A-V bundle by sear tissue can depress or block conduction
from atria to the ventricles.

In light of the above statements, choose the most appropriate answer from the options given below
fon &S D> Dbl 9> i

wl st

A-V Bundle &3 1>lq S gy Jiiieimpulse 1o ik o uidl

- (Bundle of His)

g | MPRA I

e US)S oS by iSuw Sg) ¢S Conduction e cidhy ww widl gbs y A-V bundle _w ~>g S Scar tissue

U2 sz 1y E9090 aw pae JI3 pae gy bS DLl VU A2 i

[Question ID = 774]
1. Both Statement I and Statement I are correct /UJ_‘. o giga- I lu jel -1 lu

[Option ID = 3093]
2. Both Statement I and Statement II are incorrect /,Ja.g hle jgiga- 11 5lu el -1 glu

[Option ID = 3094]
3. Statement I is correct but Statement II is incorrect / o hle-1l gl Sy s -l gl

[Option ID = 3095]
4. Statement [ is incorrect but Statement IT is correct / ol gl S o ble -1l

[Option ID = 3096]

21)  Which of the following is/are the effect of sympathetic stimulation?

(A) Dilated pupil

Fa ] b AOTOITETRRRRNC (i "LrREIU TSR



RO P R e SN
(C) Decreased peristalsis of gut
(D) Constriction of bronchi
(E) Constricted pupil
Choose the correct answer from the options given below:
§ s Gl ¢S Sympathetic Stimulation  Jac LuigS 1o J13 ~z)lie
lilgy IS oliy S ST (A)
Lia'p S i lis, (B)
Ugs aS 8 ~a3gd J15y> S Lol ©

i S ~idt> §g)c (D)
S0 8 wliy oS 95T (B

w2 Option aizwo aw e Jid )2

[Question ID = 775]
T (A). (B). (C). (D) only

[Option ID = 3097]
2. (A). (B).(C) only

[Option ID = 3098]
3. (A) and (B) only

[Option ID = 3099]
4. (A) only

[Option ID = 3100]

22) Nugra is an example of :

it Jlio 0,d;

[Question ID = 776]
1. Mizaj Sani Mustahkam / X

[Optioq ID = 3101]
2. Mizaj Sani Ghair Mustahkam Rikhu Muthlaq / S @lho g3, PSRL"“’ e wili 2l

[Option ID = 3102]
3. Mizaj Sani Ghair Mustahkam Rikhu Jiddan /U\S 1> g5 aSaiue € wili zljo

[Option ID = 3103]
4. Mizaj Sani Ghair Mustahkam Rikhu ba Ifrat/ug blil g3, oSxiuwe pe wilf zlio

[Option ID = 3104]

23) The Shelf life of Samaghiyaat is :

D gy Il Jde S Dlgas

[Question ID = 777]
1. Five years / Jlw gily

[Option ID = 3105]
2. Three years / Jlw 0

[Option ID = 3106]
3. Seveuyear&/du =il

[Option ID = 3107]
4. Nine years / Il o3

[Option ID = 3108]
24) Animportant formulation of Reg Mahi is :
Dt Sye joiite IS slo Ky
[Question ID = 778]

1. Habb e Muqil / Jio u>

[Option ID = 3109]



2. Habbe Mulazziz/ iy A

[Option ID = 3110]
3. Habb ¢ Mumsik / < i

[Option ID = 3111]
4. Habb ¢ Mun’ish / Jhio u>

[Option ID = 3112]
25) Which of the following is a Musaffi Dam drug?
S‘«:.’ U—uugs c|9) 2 oo o Jus )2

[Question ID = 779]
1. Satar Farsi /' cwylé yino

[Option ID = 3113]
2. Sahjana/nj_?.(,m

[Option ID = 3114]
3. Shahattara / 0yiyLib

[Option ID = 3115]
4. Shaqaqul Misri / & Jbla

[Option ID = 3116]
26) Given below are two statements
Statement I: Samagh-e-Dhaak is also known as Kamar Kas
Statement II: Because of its usefulness in backache

In light of the above statements. choose the correct answer from the options given below

ok Dbl 93 e Jud

: -l UI-'-'

o S 2 S oS o5 SbS o

gl

- ~2g S S Jlasiwl A S jaS Cuygli
Dotz Option uzuo aw e 13 70 e widigy S Slily Vb ~>)1is

[Question ID = 780]
1. Both Statement I and Statement IT are true / Ul 4o gigd- 1] 0'—.'.—! JSI | Q'—.l.-!

[Option ID = 3117]
2. Both Statement I and Statement II are false /UJ-.‘ hle jgiga- Il gl jel -1 gl

[Option ID = 3118]
3. Statement [ is correct but Statement II is false /:J ble—1l yly oS4 s -l gl

[Option ID = 3119]
4. Statement I is incorrect but Statement IT 1s tme/‘:J amo— 1l gl oS o hle -1 gl

[Option ID = 3120]

27)  Azraq is suffixed to which of the following drugs :

S Bl LS 5uy25 "Gp)l" gl Slgs yuS aw yae Jud 20

[Question ID = 781]
1. Mugqil / Jéo
[Option ID = 3121]
2. Kundur / ) 1S
[Option ID = 3122]
3. Ushaq / Bl

[Option ID = 3123]
4. Z

Loban / olg)

[Option ID = 3124]

28) The term “Generic name” is used in place of :



§ 1 U LS Jlasiwl pli woslyio US 4 S Generic name

[Question ID = 782]
1. Chemical Name

[Option ID = 3125]
2. Non-proprietary Name

[Option ID = 3126]
3. Proprietary Name

[Option ID = 3127]
4. Coded Name

[Option ID = 3128]

29)  Match List I with List IT

List I List IT

A. Azaraqi I. Papaverine

B. Afiyun I1. Anthraquinone
C. Rewanchini [III. Cannabinol
D. Qinnab IV. Strychnine

Choose the correct answer from the options given below:

:uJ._}S(J“ﬂ..—L‘J Ewd 81 Ewd

| TP | ol
(I) Papaverine wahylbl (A)
() Anthraquinone gl (B)
() Cannabinol wdgz digry  (Q)
(IV) Strychnine wid (D)

utiz Option zus aw ae Jud )0

[Question ID = 783]
. A-IILB-MI.C-I.D-IV

[Option ID = 3129]
2. A IV.B-I1.C-I.D-1II

[Option ID = 3130]
3.AIM.B-IV.C-1.D-II

[Option ID = 3131]
4 AT B-II.C-IV.D-II

[Option ID = 3132]
30) Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R
Assertion A: Dawa e Motadil does not produce any abnormal kaifivat after administration into

body which becomes higher or lower than the normal body’s temperament.

Reason R: Because the kaifiyat of Dawa e Motadil exists similar to normal body’s
kaifiyat.

In light of the above statements. choose the most appropriate answer from the options given
below

- LS LS Reason (R) S < jwgd j9l s LS LS Assertion (A) o5 Sul _,u Slily g3 yao Jud
: Assertion (A)
ol w3S G B SLasS il 4 pS 2 yb S aw CuasS wilawz S gy 3)lg pao Glul ju Jaizo clgs
: Reason (R)
-t gy @il S CuassS (il CudsS welie oS Jaine dgy SigrS

UJ)S wxiie option  puswo aw i oOptions é <Ud U o i) wS Sl Vb ~z)lio



[Question ID = 784]
1. Both A and R are correct and R is the correct explanation of A /_:! S obisg auzms oS (R) « (A) ol (yu 2w ygigd  (R))ol (A)

[Option ID = 3133]
2.
Both A and R are correct but R 1s NOT the correct explanation of A / 2 S jud Sobog pumus oS (R) . (A) oS o g ugign (R) (51 (A)

[Option ID = 3134]
3. A is correct but R is not correct / hle R) oS s 2w (A)

[Option ID = 3135]
4. Ais not correct but Riis correct "z (R) ol —y hle (A)

[Option ID = 3136]

31) Which of the following is not an animal origin drug?

St uhid wilgrz clgd cuiisS e Jid 20

[Question ID = 785]
1. Shakar Teeghal / Jlay S

[Option ID = 3137]
2. Kafe Darya / Lo S

[Option ID = 3138]
3. Lodh Pathani / wlgil, a5gl

[Option ID = 3139]
4. Shaakh Ghozan / 385 ¢l

[Option ID = 3140]
32) The following are oral antidiabetic drugs. Identify, which one is not included in Sulfonylurea
group?

Sulfonylurea clgs GuwiigS oS _iziS wyuilis e oral antidiabetic S 13 7355y it Jolid ao gy

[Question ID = 786]
1. Tolbutamide

[Option ID = 3141]
2. Glibenclamide

[Option ID = 3142]

3. Metformin

[Option ID = 3143]
4. Glipizide

[Option ID = 3144]
33) Turanjabeen acts by virtue of :

St wigy Hll ¥l aw z4b S Guziy

[Question ID = 787]
1. Mus’hil bil Tzabat ; ~uls Vb J s

[Option ID = 3145]
2. Mus’hil bil Izlaaq ; 3VU5YL Jyaue

[Option ID = 3146]

3. Mus’hil bil Asr / pa=ll Jyue

[Option ID = 3147]
4. Mus’hil bil Jila wa al Taqtee / guhdillg M=lb J e

[Option ID = 3148]

34) Match List I with List IT

ListI List IT

A. Anqrooya Saghir I. Sual muzmin

B. Habbe Shifa II. Amraze Gurda wa Masanah
C. Sharbate Sadr III. Amraze Balghamiya

D. Sharbate Bazoori Moatadil |IV. De-addiction of Opium

Choose the correct answer from the options given below:
TS ole v HEwd 51 Enad
| TP I ol



gepe Jlrw dlp yae (1) o Sbgydil  (A)
ilio g 03,8 yblel Sl agas (1) lid > (B)
~saly yolisl Sl séoe (1) s dugm {0

S oalend el kel I8 owogacns 5
= wil>

utiz Option o aw e Jid 2)0

[Question ID = 788]

- (A)-(V), (B)-(), (O)-(1), (D)-(IN)
[Option ID = 3149]

2 (A)-(I), (B)-(IV), (C)-(1). (D)-(1n)
[Option ID = 3150]

3 (A)-(n, (B)-(ln), (©)-(), (D)-(IV)
[Option ID = 3151]

4 (A)-(IV), (B)-(I). (C)-(1), (D)-(111)

[Option ID = 3152]

35)  Match List I with List IT

List I List IT

A. Intasabi 1. Jarb wo Hikkah
B. Habbe Qooba II. Taqwiate Bah
C. Majoon Biladur  |[III. Daad

D. Roghane Hanzal [IV. Damaah

Choose the correct answer from the options given below:

ZUJ__}SL'JlLo,iu I Eual 81 Sl

| Y | Sl
2ol oS> g0y () wibasl ()
i d) S ol cueds () Lgs > (B)
wyze &I Sob () P geae (O)
by epenguenit st Jhi> 3¢9, (D)

utiz Option @uzo aw yae Jid 2 )0

[Question ID = 789]
- (A)-(I1), (B)-(IV), (C)-(1), (D)-(11n)

[Option ID = 3153]

2 (A)-(1), (B)-(11), (C)-(IV), (D)-(11)
[Option ID = 3154]

3 (A)-(n, (B)-(), (O)-(IV), (D)-()
[Option ID = 3155]

4 (A)-(IV), (B)-(I1), (O)-(In). (D)-()

[Option ID = 3156]

36) The author of ‘Minhajud Dukan wa Dastoorul Ayan fi Amaal wa Tarkeebul Advia’ is:

It oo 15 ”n_gs_ﬂ.” LL&S)J 9 Jlocl o UL_;_:,LII )gilwd g OlSJJ| El.((_i.a”

[Question ID = 790]
1. Mohammad bin Khajandi / $liz> p la=e

[Option ID = 3157]
2. Najeebuddin Samarqandi / 8 yow Ul Cyzi

[Option ID = 3158]
3. Abu Nasr Attar Israili / sliiljwl clhe pad gl

[Option ID = 3159]
4. Mohammad bin Zakaria Razi / sl b )Sj o damo

[Option ID = 3160]



37) Given below are two statements. one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: As, Cd. Cr. Pb and Hg are Heavy metals,
Reason R: These heavy metals are toxic,

In the light of the above statements, choose the most appropriate answer from the options given
below

- WS S Reason (R) ¢S < jwgs 59l WS LS Assertion (A) o5 Syl _w Olily 93 yao Jud
Assertion (A) :

As, Cd, Cr, Pb and Hg : ,y Joli ;10 Heavy metals
Reason (R) :

—uk wigS) Sl sawwHeavy metals AL s jiie ~SiguS

UJ_}S wxiie option auuo w e options é 2y 2 e gy wS Sl YU Az lie

[Question ID = 791]
1. Both A and R are correet and R is the correct explanation of A / -— U)S “obibg gumo oS (R) (A) jol «pw gw yeigy (R))gl (A)
[Option ID = 3161]
2.
Both A and R are correct but R is NOT the correct explanationof A / . 1)S i Jsbibg auzuo oS (R) (A) oSu oy 2w ygigs (R) gl (A)

[Option ID = 3162]
3. Ais correct but R is not correct / hle (R) 5S4 —y g (A)

[Option ID = 3163]
4. Ais not correct but R is correct / zuw (R) ;91  hale (A)

[Option ID = 3164]

38)
Given below are two statements

Statement I: National Formulary of Unani Medicine and Unani Pharmacopeia of India are
similar official books.

Statement IT: Pharmaceutical Standards of compound formulations are not mentioned in
National Formulary of Unani Medicine, whereas Pharmaceutical standards of compound
formulations are mentioned in Unani Pharmacopeia of India.

In light of the above statements. choose the meost appropriate answer from the options given
below

odt Dbl 93 e Jud
= l_]'-.l.-!
ot uWSs yeigs (UP) Ll 6T Ly gSue)ls (riligs yq! (NFUM) Guuiie (iligy (6T ylge)ls Jidus

gl

ol Jsy 2z, Standards S SilSye e Uil G LygSuels wiligy nSu> Jog yid 2,5 Standards S SilSye o Guiyise wiligy T s))go)le Jidiy

1 iz Option muzuo aw uo i 20 u_i..oudﬁJBJUSQLiLl__!ULg ~Z)lio

[Question ID = 792]
1. Both Statement I and Statement IT are correct / i o ygigd- I glu jel -1 gl

[Option ID = 3165]
2. Both Statement I and Statement IT are incorrect / u hle qiga- 11 Hlu j9l -1 Hlu

[Option ID = 3166]
3. Statement I is correct but Statement IL is incorrect / —y bhle— 11 5o S o fumos -1 Gl

[Option ID = 3167]
4. Statement I is incorrect but Statement IT is correct / ) pumo— Il jlu Sl o hle -1 5lo

[Option ID = 3168]

39)  Given below are two statements. one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Absorption of Kushtajat are swift as compared to other drugs. and they are more
fast acting.

ey BE Rad o 25



eason ki bDecausc duc 1o calcmatons process metals/nunerals are converted o
nanoparticles, therefore. their absorption is swift and their actions are fast.

In light of the above statements. choose the meost appropriate answer from the options given
below

-t W8 S Reason (R) oS e jwg> j9l —y LS LS Assertion (A) ¢S5 Syl - u Slily 93 ae Jud

: Assertion (A)

obt Jo 31395 0305 0g 4ol y ligy aw 3w 0304 ~lilio S 5lgs ;500 pue g wilil Llizil B b Aias
: Reason (R)

cet gy aw B30 e 1 Wil 8 2 Gy Wby J1dd e Nanoparticles 3Luz\l Bl ARyyd 5 U,u.lJS.J dac nSJg_IS

UJ)S wxiie option  amuo aw 1o options é <y i o wdidigy S Slilp Vb azjaie

[Question ID = 793]
1. Both A and R are correct and R is the correct explanation of A / __ 1)S Jizbibg puzo S (R) (A) jgl (pur zw ygigd (R);gl (A)
[Option ID = 3169]
2.
Both A and R are correct but R is NOT the correct explanation of A / _ ) 15)S 15 Jzbibg pusws oS (R) .« (A) SW .pw 2w ysgigd (R) gl (A)

[Option ID = 3170]
3. Ais correct but R is not correct / hile (R) 5S4 oy g (A)

[Option ID = 3171]
4. A isnot correct but R is correct / zaw (R) 9l y hnlc (A)

[Option ID = 3172]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Amber is incorporated in a formulation during slow heating at later stage.
Reason R : Because Amber evaporates on higher temperature.

In light of the above statements, choose the correct answer from the options given below
1 LS S Reason (R) ¢S ¢ jwgs jol —y WS LS Assertion (A) o5 Syl _juy Slil g5 ao Jo3
Assertion (A) :
S 3 pae Syo @il LSk e pled awl EiB9yS ol ae Sye wiS oS pic

Reason (R) :

B Slogy Evaporate oq 3 5,5 Joldr y @il 0503 S g mnls 8 ic ~KigsS

UJ_}S wxiile option  auswo aw e oOptions é TR - TE V-SSP wS 3lils YU ~>)lio

[Question ID = 795]
1. Both A and R are true and R is the correct explanationof A/ __, G)S Cmbing aumuo oS (R) (A) gl (g ygigs (R))gl (A)

[Option ID = 3177]
2. Both A and R are true but R is not the correct explanation of A/ . 5)S 15 Jiobibg auses oS (R) . (A) o3 um 2w ygigd (R) ol (A)

[Option ID = 3178]
3. Aidstrue but Ris false / hle (R) S  zw (A)

[Option ID = 3179]
4. AisfalsebutRistrue / gw (R) 59 o ble (A)

[Option ID = 3180]

41) Match List I with List IT

List I [List IT

A. Qurse Kafoor I. Muqqavi Aasab

B. Qurse Haabis II. Muharrike Ratubaat Maida
C. Johare Seen III. Mubarrid

D. Jawarishe Falafil IV. Habise Dam

Choose the correct answer from the options given below:

S _}5 L‘,Xla gty Newd 81 Euad

|| Iy I S
wbaocl sgie () 1998 yoys  (A)

Bise ciiaks S.xs  OR s e (BY



sye (1) otw poz ()
o3 gul> (V) wlalls Sile> (D)

D gdz Option aimuo aw e Jid 250

[Question ID = 796]

- (M-, (B)-(In, (C)-(1V), (D)-(1)
[Option ID = 3181]

2 (A)-(IV), (B)-(1n), (Q)-(1), (D)-(In)
[Option ID = 3182]

3 (A)-(IN), (B)-(IV), (O)-(1), (D)-(I1)
[Option ID = 3183]

4 (A)-(IV), (B)-(IN). (C)-(1m), (D)-(1)

[Option ID = 3184]

42) Match List I with List IT

List I List IT

A. Effective in Khafqan wa Baswas  |I. Khamira Khaskhash

B. Remove Khushki-e-Dimagh II. Khamira Abresham Shire Unnabwala
C. Effective in Malekholia III. Khamira Banafsha

D. Prevent Nazalae Haar IV. Khamira Abresham Ood Mastagiwala

Choose the correct answer from the options given below:
TS ole o H&wd BT Sl
|| TP 1 Sl

b opes () Moo 4 S Culizg Sglyguw gl laas  (A)

=1
Vg Glic 0,0 adiy ol 03005 (Il B e of B oGS B
~aitlly 0y1a> (1) = Hbe e rdgzlle (C)
Ulg (Shuas sgc iyl oygas (V) <2 BSg) 68 i 505 59l @S (D)

1 gz Option ausuo aw jae Jid 250

[Question ID = 797]

- (A)-(In), (B)-(ll1), (O)-(IV), (D)-(1)
[Option ID = 3185]

2. (A)-(IV), (B)-(I1), (O)-(1), (D)-(111)
[Option ID = 3186]

3 (A)-(I), (B)-(), (Q)-(1D), (D)-(IV)
[Option ID = 3187]

A (A)-(), (B)-(1), (C)-(1V), (D)-(1n)

[Option ID = 3188]

43) Definition of the disability is
T o wayyei S Disability

[Question ID = 798]
1. Any loss or abnormality of psychological physiological or anatomical structure or function

[Option ID = 3189]
2. A disadvantage for a given individual resulting from a impairment or a disability that limits or prevents the fulfillment of a role

[Option ID = 3190]
3. Any description or lack of ability to perform an activity in the manner or within the range considered normal for a human being

[Option ID = 3191]
4. Restoration of family and social relationship

[Option ID = 3192]

44) Which one is the most appropriate definition of Surveillance?

Dt 9 cuwlio aw 5 Surveillance 095‘_31 abe Jud z )0

[Question ID = 799]



1. The limitation of freedom of movement of such well person or domestic animals exposed to communicable disease

[Option ID = 3193]
2. Continuous analysis, interpretation and feedback of systematically collected data

[Option ID = 3194]
3. The person, animal or substance from which an infectious agent passes or disseminated to the host

[Option ID = 3195]
4. Termination of all transmission of infection by extermination of the infectious agent through surveillance and containment

[Option ID = 3196]

45) The declaration of Alma-ata stated that primary health care includes :

A. To build healthy public policy

B. Develop personal skills

C. Immunization against infectious disease
D. Provision of essential drugs

E. Promotion of food supply and nutrition

Choose the correct answer from the options given below:

C g gy ylad jre il 885 iz il Gilhe S ~gidlel BT Lall
A. To build healthy public policy

B. Develop personal skills

C. Immunization against infectious disease

D. Provision of essential drugs

E. Promotion of food supply and nutrition

D iz wlyr auzeo aw ue options (Jj3 ~z) e

[Question ID = 800]
- (O), (D) and (E)

[Option ID = 3197]
2. (A), (B) and (C)

[Option ID = 3198]
3- (B), (D) and (E)

[Option ID = 3199]
4. (A), (Q) and (D)

[Option ID = 3200]

46) The clinical features like nausea, vomiting, colicky abdominal pain and headache are related
with :

5:gl§iﬂo£wﬁ&bﬂ£uul!;?yuh)Jg|uib4@U9§.éguﬂn

[Question ID = 801]

1. Lead poisoning / Jtpaw S ~utiw
[Option ID = 3201]

2. Cholera / raiy

[Option ID = 3202]
3. Arsenic poisoning / Ciaw oS LgSiw

[Option ID = 3203]
4. Mercury poisoning / Jitow S 0l

[Option ID = 3204]

47) Preservative used for the preservation of viscera is

§ = Ugs Jlaxiwl Preservative LuuigS 4l S haxi S Ll

[Question ID = 802]

1. Todine
[Option ID = 3205]

2. Formalin
[Option ID = 3206]

3. Saturated solution of common salt
[Option ID = 3207]

4. Alcohol

[Option ID = 3208]



48) Match List I with List IT

List I List IT
A. Incubation period of Chickenpox . 30— 180 days
B. Incubation period of Mumps 0. 7 — 14 days

C. Incubation period of Poliomyelitis III. 18 — 72 hours
D. Incubation period of Hepatitis B IV. 14 — 16 days

Choose the correct answer from the options given below:

ZUJ__}Sullo'iu e B1 Enl

| T I Eoud
()  30-180 days (A) Incubation period of Chickenpox
(I 7-14days (B) Incubation period of Mumps
(1) 18 —72 hours (C) Incubation period of Poliomyelitis
(IV) 14 -16 days (D) Incubation period of Hepatitis B

iz Option zuzuo aw ueOptions  Jud z 5o

[Question ID = 803]

- (A)-(1). (B)-(I1), (©)-(Il1) and (D)-(IV)
[Option ID = 3209]

2 (A)-(1V), (B)-(ln), (O)-(I) and (D)-(1)
[Option ID = 3210]

3 (A)-(In), (B)-(IV), (C)-(1l) and (D)-(1)
[Option ID = 3211]

4 (A)-(I), (B)-(D), (Q)-(I1) and (D)-(IV)

[Option ID = 3212]

49) Match List I with List IT

List I List IT
A. Agent factor of Cholera I. Salmonella typhii

B. Agent factor of Typhoid II. Lyssa virus type I
C. Agent factor of Diphtheria  [IIL. Vibrio cholera
D. Agent factor of Rabies IV. Corynebacterium diphtherae

Choose the correct answer from the options given below:

:u_g)SuL[o,iu Il Sl 15| Eiial

N Eud I Euwl
()  Salmonella typhii (A) Agent factor of Cholera
(1) Lyssa virus type | (B) Agent factor of Typhoid
(Ily Vibrio cholera (C) Agent factor of Diphtheria

(IV) Corynebacterium diphtherae (D) Agent factor of Rabies

iz Option auimuo aw 1eOptions 13 7)o

[Question ID = 804]
- (A)-(1), (B)-(1), (C)-(IN) and (D)-(1V)

[Option ID = 3213]
Z (A)-(In), (B)-(I), (O)-(1V) and (D)-(1)

[Option ID = 3214]

3 (A)-(I), (B)-(1), (O)-(IV) and (D)-(I1)
[Option ID = 3215]

4 (A)-(IV), (B)-(I), (O)-(1) and (D)-(I1)

[Option ID = 3216]

50) Burtonian line is seen in the poisoning of :

f et wile o Citaww S S Burtonian line



[Question ID = 805]
1. Mercury

[Option ID = 3217]
2. Arsenic

[Option ID = 3218]
3. Lead

[Option ID = 3219]
4. Copper

[Option ID = 3220]

51) Incubation Period of Cholera is commonly of

! = wigy bgac Ciilas Oe S Cholera

[Question ID = 806]
1. 5-6days ; 3% w0

[Option ID = 3221]

2. 34days /oo F awl
[Option ID = 3222]

3. 1-2days / oT wl
[Option ID = 3223]

4 23days ; o F Ll

[Option ID = 3224]

52) Germ's theory of the disease was given by

$by 4 yuSGerm's theory

[Question ID = 807]
1. Louis Pasteur

[Option ID = 3225]
2. Mac Mohan

[Option ID = 3226]

3. Leavell and Clark

[Option ID = 3227]
4. Leuwenhoek

[Option ID = 3228]

53) Heart failure cells are found in :

Sun dlz db yee yuSHeart failure cells

[Question ID = 808]
1. Chronic congestive failure of lungs

[Option ID = 3229]
2. Chronic congestive failure of liver

[Option ID = 3230]
3. Chronic congestive failure of spleen

[Option ID = 3231]
4. Acute myocardial infarction

[Option ID = 3232]

54) Gamma-Gandy bodies are seen in :

§ o wilz Wil pae yuS Gamma-Gandy aw>

[Question ID = 809]

1. Chronic congestive failure of lungs

[Option ID = 3233]
2. Chronic congestive failure of liver

[Option ID = 3234]
3. Chronic congestive failure of spleen

[Option ID = 3235]
4. Acute myocardial infarction



[Option ID = 3236]

55) Gamma-Gandy bodies are seen in :

: — Jle S Granulomatous Inflammation

[Question ID = 810]

1. Tuberculosis

[Option ID = 3237]
2. Leprosy

[Option ID = 3238]

3. Sarcoidosis

[Option ID = 3239]
4. All of above

[Option ID = 3240]
56) (Caseation Necrosis is characteristic of :

§ o wilz Wil p ysb ogar pie yuS Caseation Necrosis

[Question ID = 811]
1. Acute Myocardial Infarction

[Option ID = 3241]
2. Tuberculosis

[Option ID = 3242]
3. Cerebral Infarction

[Option ID = 3243]
4. Acute Pancreatitis

[Option ID = 3244]

57) All events are common to primary and secondary healing except :

D dlaaws yuy dlz dly Jolge g ae Jloail gili jgl (silaiy]

[Question ID = 812]

1. Formation of blood clot
[Option ID = 3245]
2. Inflammatory response

[Option ID = 3246]
3. Wound contraction
[Option ID = 3247]

4. Epithelial changes

[Option ID = 3248]

58)  Leucocyte count will be decreased in :

!t wilzgy oS 3lawi S Leucocyte

[Question ID = 813]
T Appendicitis
[Option ID = 3249]
2. Meningitis
[Option ID = 3250]
3. Typhoid
[Option ID = 3251]
4. Acute Glomerular Nephritis

[Option ID = 3252]

59)  The most common termination of Pneumonia is :

' =2 Ugy yosb ele plail 8 o 1 D15

[Question ID = 814]
1. Consolidation

[Option ID = 3253]
2. Resolution



[Option ID = 3254]
3. Abscess formation
[Option ID = 3255]

4. Empyema

[Option ID = 3256]

60) Characteristic feature of Amoebic ulcer is :

D wiyy JSub yoguate S Amoebic ulcer

[Question ID = 815]
1. Flask shaped

[Option ID = 3257]
2. Undermined edges

[Option ID = 3258]
3. Rolled up edge

[Option ID = 3259]
4. Punched out

[Option ID = 3260]

61) Inflammatory fluid rich in leucocytes and parenchymal debris is called :

e will S gy wolS Hlude S Parenchymal debris gl Leucocytes juio yuz wulyill Cugh,

[Question ID = 816]
1. Pus

[Option ID = 3261]

2. Transudate

[Option ID = 3262]
3. Edema fluid

[Option ID = 3263]
4. Exudate

[Option ID = 3264]

62) In Myocardial Infarction the type of necrosis is seen :

§ e Ul> bl j2i5 8 z b S 1o Myocardial Infarction

[Question ID = 817]

1. Caseous

[Option ID = 3265]
2. Gangrenous

[Option ID = 3266]
3. Coagulative

[Option ID = 3267]
4. Liquefactive

[Option ID = 3268]

63) Pipette having three marks, 0.5, 1.0 and 11 15 found in :
t e ligy glii I8 11 )l 1.0 0.5 o Pipette juS

[Question ID = 818]
1. RBC pipette

[Option ID = 3269]
2. WBC pipette

[Option ID = 3270]
3. Platelet pipette

[Option ID = 3271]
4. Hb pipette

[Option ID = 3272]

64)  Protein in the urine is examined by:

Dol IS gile bS Protein e Jgi

[Question ID = 819]
1. Hay’s test
[Option ID = 3273]
2. Benedict’s test
[Option ID = 3274]
3. Ehrlich’s test



[Option ID = 3275]
4. Sulphosalicyclic acid test

[Option ID = 3276]

65) Which 1s the sixth one in the asbab-e-sitta zaruriyah?

Sy LusisS Ugz aw po ~ygrd ~lw wiluwl

[Question ID = 820]
1. Nawmwa Yaqza /[ ~ady g egi

[Option ID = 3277]
2. Hawa-e-Muheet / by=s clgy

[Option ID = 3278]
3. Istifragh wa Ihtebas / ,ulis| g glyatwl

[Option ID = 3279]
4. Harkat wa Sukoon Nafsani / ilwai ;gSuw g CiS)>

[Option ID = 3280]

66) Excess of sukoon (rest) causes what effect on the body?
HPSSRUSTL S RVFRY) N QTP SULHITE RUS ST o

[Question ID = 821]
1. Hararat/ Oyl>

[Option ID = 3281]
2. Burudat / gy

[Option ID = 3282]
3. Ratubat / Cygh,

[Option ID = 3283]
4. Yabusat / Cuugy

[Option ID = 3284]

67) Riyazat strengthens which of these?
P e e

[Question ID = 822]

1. Arkan [ K|

[Option ID = 3285]
2. Akhlat/ b=l

[Option ID = 3286]
3. A'zaa [ |Lacl

[Option ID = 3287]
4. Arwah / zlg)l

[Option ID = 3288]

68) Takaan wa Takassur (Tiredness/Fatique) can be relieved by which of the following type
of dalk?

S Ling ol pao S 9 oS5 S S s S aw o a5 29

[Question ID = 823]
1. Dalk-e-Khashin / pis Sl

[Option ID = 3289]
2. Dalk-e-Amlas /uulel SI>

[Option ID = 3290]
3. Dalk-e-Iste’dad / 3ly9iwl )

[Option ID = 3291]
4. Dalk-e-Istardad / 3l3,iwl s

[Option ID = 3292]

69) Correctly match the following adverse effects of Qai (emesis) in List I with their appropriate
management in List II

List I List IT

A. Qai does not occur after taking muqi 1. Zood-e-hazm shorba (easily digestible
(emetic) curry)

B. Pain beneath the ribs (epigastric region) 1. Try to induce sneezing

C. Burning sensation in stomach I11. Hugna

D. Hiccups IV. Takore with warm water, hijamah nariya

Choose the correct answer from the options given below:




oS ole w2V quwliso 3 Swl yio Il Euwd 8 Sblkoii 5 3 38 0o yse | Cund
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~odd gty 39) (1) Ugy ni B g 33 S mgdl o (A)
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utiz Option au=o au yao Jud )0

[Question ID = 824]

1.

(A)-(1n), (B)-(1V), (C)-(1), (D)-(I1)

[Option ID = 3293]

2. (A)-(), (B)-(1), (O)-(IV), (D)-(1IN)

3.

[Option ID = 3294]
(A)-(1), (B)-(IV), (C)-(1l1), (D)-(Ir)

[Option ID = 3295]

4 (A)-(1V), (B)-(1), (©)-(11), (D)-(1I1)

[Option ID = 3296]

70) In which of the following conditions, Ta’leeq is contraindicated?

S Enian Gulei pio jgo S e i) ~z)dio

[Question ID = 825]

1.

Qurooh-e-balghami / a2l 24,8

[Option ID = 3297]

2. Bawaseer / juwlgy

[Option ID = 3298]

3. Nags Injemad-ud-dam (Haemophilia) / (Lo goan) padl slozil yadi

[Option ID = 3299]

4. Busoor-e-Labaniyah / ~dJ ;g1

[Option ID = 3300]

71)  What is the objective of Istifragh?

¢ b solie X Eliaiwl

[Question ID = 826]
1.

Taghziya wa tanmiya / ~taii g ~yi2i

[Option ID = 3301]

. Tanqiya wa tasfiya / ~t8uaj g ~ii

[Option ID = 3302]
Hazm wa Istehala / ~Jl=iwl g auny

[Option ID = 3303]

- Injezab wa Hazm/ auny g wilizdl

[Option ID = 3304]

72) Pruritis = Scratching = Secondary infection = Suppuration

This sequence is seen in :
Pruritis = Scratching = Secondary infection = Suppuration
Szt wilz Wil Uae uBse S Uid nz)die iy~

[Question ID = 827]
1.

Scabies

[Option ID = 3305]

2. Peduculosis pubis

3.

[Option ID = 3306]
Chancroid

[Option ID = 3307]

4. Herpes genitalis

[Option ID = 3308]

73) Pox virus causes -

St w5 yoyo S aw e Jud z)> Poxvirus

[Question ID = 828]
1.

Genital herpes

[Option ID = 3309]

2. Condyloma acuminate



[Option ID = 3310]
3. Granuloma inguinale

[Option ID = 3311]

4. Moluscum contagiosum

[Option ID = 3312]

74) Primary amenorrhoea, delayed secondary sexual characters, average height and underdeveloped
genitals are clinical features of :

[Question ID = 829]
1. True hermaphroditism

[Option ID = 3313]
2. Klinefelter’s syndrome

[Option ID = 3314]
3. Mosaic Turner
[Option ID = 3315]
4. Pure gonadal dysgenesis

[Option ID = 3316]

75) Karyotvpe 45X0O is characteristic of :
§ 3 wilz il gae Oygus GusS Jid ~z)ais  Karyotype 45X0

[Question ID = 830]
1. Adrenogenital syndrome

[Option ID = 3317]
2. Mixed gonadal dysgenesis

[Option ID = 3318]
3. Turner's syndrome

[Option ID = 3319]
4. Klinefelter's syndrome

[Option ID = 3320]

76)  The pyriform shape of uterus becomes globular by :
¥y wilzgy S Globular _w Pyriform JSub S p>,

[Question ID = 831]
1. 6 weeks ofpregnancyf oo Jo> S Ay £

[Option ID = 3321]
2. 8 weeks of pregnancy ; ute Ja> S ~igy A

[Option ID = 3322]

3. 10 weeks uf'prégnanéy/ ot Jaz S gyl
[Option ID = 3323]

4. 12 weeks of pregnancy / e Ja> S ~iay IT

[Option ID = 3324]

77) To assess gestational age, detect fetal abnormality and viability, sonography should be done
between :

S ylz wilz wilyS S Sonography I S sS Juol> Oiloglee oS S1j Caelle jol it byt yte paiz 485 IS Ja> o

[Question ID = 832]
1. 12-16 weeks / day 12-16

[Option ID = 3325]
2. 16-20 weeks / i, 16-20

[Option ID = 3326]
3. 18-22 weeks / iy 18-22

[Option ID = 3327]
4. 24-30 weeks / Jay 24-30

[Option ID = 3328]

78) Active phase of labor begins when the cervix is :
St sy Olegpb S Active phase S ©0Vg 3 lagy S S eyl Gis

[Question ID = 833]
1. 10 cm dilated

[Option ID = 3329]
2. % em dilated



[Option ID = 3330]
3. 6 cm dilated

[Option ID = 3331]
4. 4 cm dilated

[Option ID = 3332]

79) Time of eruption of upper canine during primary dentition is :

S on S Cuils Canine ML ue jac S

[Question ID = 834]

- 10-14 months / o 10-14
[Option ID = 3333]

2. 12-16 months [ o 12-16

[Option ID = 3334]
3. 16-22 months / Jage 16-22

[Option ID = 3335]
4. 2224 months | _iye 22-24

[Option ID = 3336]

80) The weight gain in the first 3 months of life is :
St Uy n8Lol 8 ()9 IS o jac oS ciggo Gdf S Eord

[Question ID = 835]
1. 15-30 gm/day / ~regs gm 15-30

[Option ID = 3337]
2. 3040 gm/day } ~rogs gm 30-40

[Option ID = 3338]
3. 2040 gm/day / ~sogs @M 20-40

[Option ID = 3339]
4. 10-20 gm/day / ~1oqy gm 10-20

[Option ID = 3340]

81) Puberty in girls starts with breast development between :

St st 0bed S e oS @il S GiSl5E1 S 98 Sl S Cisly

[Question ID = 836]

1. 7and 9 years/ Jl, 7-9
[Option ID = 3341]

2. 8and 13 years / JLw 8-13
[Option ID = 3342]

3. 11and 14 years / JLy 11-14
[Option ID = 3343]

4. 12 and 15 years / Jlw 12-15

[Option ID = 3344]

82) The commonest Hypospadias is :
! aud ple w8 Hypospadias

[Question ID = 837]
1. 1. Penile

[Option ID = 3345]
2. 2. Glandular

[Option ID = 3346]
3. 3. Scrotal

[Option ID = 3347]
4. 4. (1)and (3)

[Option ID = 3348]

83) Lord Plication is done for :
¥ Ul> b plzil yro yuS Lord Plication

[Question ID = 838]

1. Hydrocele

[Option ID = 3349]
2. Hernia

[Option ID = 3350]



3. Testicular Cancer

[Option ID = 3351]
4. Varices

[Option ID = 3352]

84) Varicocele is common in left testis because :

1aShssS o Uls Ll 03l pae ~ma il Varicocele

[Question ID = 839]
1. Left testicular vein drains into IVC which has high pressure /| _, ligy 05 §bs 8 uz g wilgS Cuwly ol pae IVC 15 w5 ~uas Luib

[Option ID = 3353]
2. Left testicular veins drains into left renal vein which has high pressure / _ ligy 030 §U3 Jlz oy ilgS Lie g oS 833 Ll L9 S ~as il

[Option ID = 3354]

3. Left testis is situated lower [ _, lil> Ll )b S i rpas JLL
[Option ID = 3355]

4. Compression of testicular vein by Rectum / —y U5 8Ly 5 agdiue cloe py )9 S ~pas
[Option ID = 3356]

85) First line of treatment for Keloid is :

e gl ilail 8 Keloid

[Question ID = 840]
T Intra-lesional injection of steroid / L&) .Szl IS Steroid e Keloid
[Option ID = 3357]

2. Local steroid / Jlasiul IS Steroid 5y y5b (olio

[Option ID = 3358]
3. Radiotherapy

[Option ID = 3359]
4. Wide excision / |;)S gl 3y j5b guwg

[Option ID = 3360]

86) Best way to prevent gas gangrene is :
D g ~iuyb lgel w cuw IS Sy gSGas gangrene

[Question ID = 841]
1. Immunoglobulin

[Option ID = 3361]
2. Hyperbaric oxygen

[Option ID = 3362]
3. Proper wound debridement / ilos S a3) 3 ~dy b cuwlis

[Option ID = 3363]
4. Anti-gas gangrene serum / Jlasiwl S Anti-gas gangrene serum

[Option ID = 3364]

87) Match List I with List II

List 1 List II
A. Anosmia is a disease of I. Eye
B. Tinnitus is a disease of II. Throat

C. Astigmatism is a disease of |IIL. Ear

D. Dysphagia is a disease of  |IV. Nose

Choose the correct answer from the options given below:

I‘_H_,Solln&1||&uﬂls| Cuul

| R I Eud
gl () ) udye Syl Anosmia  (A)
5 gl= (1) < uoyo Syl Tinnitus  (B)
5 gl () —t udyo Syl Astigmatism  (C)
st (V) t udye Syl Dysphagia (D)

Utz Option  zumo aw yae Jid 2

[Question ID = 842]
T (A)-(IV), (B)-(ll), (C)-(1), (D)-(I)

[Option ID = 3365]



2. (A)-(, (B)-(1V), (C)-(1), (D)-(11)

[Option ID = 3366]

3. (A)-(), (B)-(IV), (C)-(I), (D)-(I)

[Option ID = 3367]

4 (A)-(Im), (B)-(N), (©)-(v), (D)-()

[Option ID = 3368]

88) Match List I with List II

List I

List 11

A. Paget’s disease 1s also known as  |I. Compact Osteoma

B. Exostosis is also known as 11. Osteitis Deformans

C. Ivory exostosis is also known as Il Giant Cell Tumor

D. Osteoclastoma is also known as IV, Cancellous Osteoma

Choose the correct answer from the options given below:

:LH.JS{)“B&J Il Ed 81 Sl

Sl I I Ed

() Compact Osteoma 1 bl S ¢S Paget’s disease (A)

(Il) Osteitis Deformans < bil> LS ¢S Exostosis  (B)

() Giant Cell Tumor 2 lilz LS o3 Ivory exostosis  (C)

(IV) Cancellous Osteoma lilz | S ¢S Osteoclastoma (D)

[Question ID = 843]

Uiz Option zuzo ww s Jud 250

- (A)-(IV), (B)-(11), (C)-(1), (D)-(1)

[Option ID = 3369]

2. (A)-(1), (B)-(IIN), (C)-(IN), (D)-(IV)

[Option ID = 3370]

3. (A)-(I1), (B)-(1V), (C)-(1). (D)-(1)

[Option ID = 3371]

4. (A=), (B)-(1), (C)-(IV), (D)-(11)

[Option ID = 3372]

89) Match Tist T with Fict T1

List I

List 11

A. Myopia 1s

. Absence of refractive error

B. Hypermetropia is

I1. Absence of the lens of Eye

C. Emmetropia is

I1I. Long Sightedness

D. Aphakia is

IV. Short Sightedness

Choose the correct answer from the options given below:

U.J_)Sun.oﬁj Iéud B 1 Eud

pan I ke

()  Refractive error u33g>g0 e S —s Myopia (A)

() 339280 e &S mwie S ¢Sl _, Hypermetropia  (B)

(ll) Long Sightedness — Emmetropia (C)

(IV) Short Sightedness —s Aphakia (D)

[Question ID = 844]

vz Option aumo aw yue i3 20

T (A)-(IV), (B)-(1), (C)-(1), (D)-(IN)

[Option ID = 3373]

2. (A)-(l), (B)-(i1), (O)-(IV), (D)-()

[Option ID = 3374]

3 (A)-(IN, (B)-(V), (©)-(, (D)-(111)

[Option ID = 3375]

4 (A1), (B)-(I), (C)-(1h),

[Option ID = 3376]

(D)-(IV)

90) Match List I with List IT

List I

List IT

A Carbuncle 15

1 Streadine inflammation of the subcutaneons and fasical tisenes




L% 1

B. Abscess is II. Infection of hair follicle with staphylococcus aureus

C. Cellulitisis  |III. Collection of pus with in body

D. Boil is IV. Infective gangrene of subcutaneous tissues

Choose the correct answer from the options given below:

:uJ-)SULI-"d.” Sl B Sl

I &) I ol

log liligy S oizlw salzll Cazi (1) il ud (A
il

ot u9yz uS Ju (1) —zhs (@)

~a=5 I8 Staphylococcus aureus

elaisl 8 slgs 1o am> (IIl) sl UL ()
Infective S |, giskw salz)l Cixs (V) — duidy (D)
gangrene

utiz Option @uzo aw gae Jud 2 )0

[Question ID = 845]

1 (A)-(IV). (B)-(III). (C)-(II). (D)~(1)
[Option ID = 3377]

2. (A)-(II). (B)-(IV). (C)~(T). (D)-(IT)
[Option ID = 3378]

3 (A)-(ID), (B)-(I). (C)-(IV). (D)~(TIT)
[Option ID = 3379]

4 (A)-(IV). (B)-(II), (C)~(1), (D)-(I)

[Option ID = 3380]

91) Match List I with List IT

List I List IT

A. Hyper parathyroidism is  |I. Adults counterpart of Ricket

B. Osteomalacia is II. Failure of fusion of post part of spine
C. Chondroma is III. Over secretion of Para thormone

D. Spina bifidae 1s TV. Benign tumor of cartilage

Choose the correct answer from the options given below:

:LH)SU“”<£J ol BT Ewad
I Eual I Ewl

wuaio a) S Ricket () _y Hyper parathyroidism (A)

Ll ~i 35 8 ma> Jgzy S Spine (11 —s Osteomalacia (B)
zly=1 0ol 15 Para thormone (l1I) —) Chondroma (Q)
010> ~lw IS Wgpac (IV) —s Spina bifidae (D)

vtz Option s aw jie Jid 2 )0

[Question ID = 846]

1 (A)-(IID), (B)-(1). (C)-(IV). (D)-(II)
[Option ID = 3381]

2. (A)-(ID). (B)-(T). (C)-(D. (D)-(IV)
[Option ID = 3382]

3 (A)-AV). (B)-(ID). (O)-(ID). (D)-(D)
[Option ID = 3383]

4 (A)-(D. (B)-(Im). (C)-(IV). (D)-(IT)

[Option ID = 3384]

92) Match List I with List IT

List I List IT
A. Gas gangrene is caused by |I. Streptococcus Pyogenes

B. Tetanus is caused by II. Clostridium Perfringes
C. Cellulitis is caused by II1. Burn Scar




Choose the correct answer from the options given below:

:U;_)Sollo‘iu o 81 Eud

Sl | Eowd

(I)  Streptococcus Pyogenes _ «uww IS Gas gangrene (A)

() Clostridium Perfringes - wuw IS Tetanus (B)
() Burn Scar - wuw IS Cellulitis (C)
(IV) Clostridium Tetani — w8 Marjolin ulcer (D)

siz Option o aw e i3 250

[Question ID = 847]

1 (A)-(II), (B)-(ID). (C)-(IV). (D)-(T)
[Option ID = 3385]

2. (A)-(D. (B)-(V). (C)-(D). (D)-(III)
[Option ID = 3386]

3 (A)-(D. (B)-(II). (C)-(IV). (D)-(IT)
[Option ID = 3387]

4 (A)-IV). (B)-(II). (C)-(D). (D)-(1I)

[Option ID = 3388]
Topic:- AIAPGET_Unani_New_Qs94_120
1) Given below are two statements
Statement It Lesser Quantity of Sat is medicinally used as compared to other drugs.
Statement II: Sat as compared to erude drugs exerts more effective action.

In light of the above statements, choose the most appropriate answer from the options given
below

ot Olily 95 o Jud
=] 0|__,__!
1 gy @S T ablie S ~ygol 205 Jlaxiwl jhiie S (0)bac) Cuw

gl
- ligy JI=6 4ol 30 0315 Lio abilio S als clgs Uy liad (8)bac) Cuw

Doz Option puzuo aw e Jud 20 uJDwJJj‘JSJ.J\S;ILJLIJ Vb ~z)lis

[Question ID = 876]
1. Both Statement I and Statement I are correct / y aumo yoigs- Il 5lu jol -1 Hlu

[Option ID = 3501]
2. Both Statement I and Statement II are incorrect/ L hle Gqiga- 11 5lu g9l -1 5lu

[Option ID = 3502]
3. Statement [ is correct but Statement II is incorrect / _y hle— 11 5o S o puzos -1 Gl

[Option ID = 3503]
4. Statement I is incorrect but Statement IT is correct ) 3 guzo— Il gly oS4 ) ble -1 yly

[Option ID = 3504]
2) Given below are two statements. one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Rectal bleeding most commonly occur in hemorrhoids

Reason R : Malignancy is exceptionally rare cause of rectal bleeding

In light of the above statements, choose the correct answer from the options given below
-t WS S Reason (R) oS e jwgd jgl LS LS Assertion (A) ¢S Syl - Olily ¢35 o L3
Assertion (A) :

-t Ugy pwlgs i ple w2l S 95 aw 1nbo
Reason (R):



c gy glbjw cuw 3l g 3L 8 glsl S (9> aw 1=ido
L) wziie option apmus aw jae options 38 _13 2w gae wiidig) wS Dbl Vb Az

[Question ID = 877]
1. Both A and R are true and R is the correct explanation of A / __j 1) Jisbisg zuzs oS (R) « (A) gl (ym 2w ygigd  (R))gl (A)

[Option ID = 3505]
2.

Both A and R are true and R is not the correct explanation of A / - 1i)S yud S1izlbiog mmo S (R) 0 (A) oS pn gw usigy (R) ol (A

[Option ID = 3506]
3. Ais true but R is false / e (R) S g g (A)

[Option ID = 3507]
4. A is false but R is true / zw (R) 39l s hhle (A)

[Option ID = 3508]

3) Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Diabetic patients have foot problem secondary to neuropathy and micro vascular
changes.

Reason R : Diabetic patients are at risk of infection. ulceration and trauvma.
In light of the above statements, choose the correct answer from the options given below
-2 WS S Reason (R) ¢35 < jwg>s jgl —y LS LS Assertion (A) g5 Sul ,u bl 93 ae Jod

Assertion (A) :

e wils Wil ST e 9l aw ~>g S Micro vascular changes (4l Neuropathy e g0y 40 S yubulys

Reason (R) :
= U LG oy 054 8 dgy 32V o35 ygl dog maei o i8) S92 i yauye S pubpls

P uxiie option apwo au e Options é <l i e waiigy S Sbilp Vb > die

[Question ID = 878]
1. Both A and R are true and R is the correct explanation of A /. 1S Jizbiog juzo oS (R) o (A) gl il zw ygign (R))gl (A)

[Option ID = 3509]
2.
Both A and R are true but R is not the correct explanation of A / -} U_)S Uit Sobog ausuo oS (R). (A) S gw ugigd (R) gl (A)

[Option ID = 3510]
3. AistruebutRisfalse /' Lje (R) S5 g (A)

[Option ID = 3511]
4. Aisfalsebut Ristue / zw (R) 59l —y bl (A)

[Option ID = 3512]
4)  Given below are two statements
Statement I: Uric acid stones are resistant to ESWL.
Statement IT: Oxalate stones are radio opaque.

In light of the above statements, choose the most appropriate answer from the options given
below

od Dbl 9> e Jud

1 ol

gy yaed 31 IS ESWL ; 3> $ Uric acid
=1 gl

ol Jgy radio opaque 8La> S Oxalate

1 pdz Option aumus aw jue J1d 253 e wiidigy S Slilp YU ) ie



[Question ID = 879]
1. Both Statement I and Statement I are correct / o o yeiga- I gl jel -1 ol

[Option ID = 3513]
2. Both Statement I and Statement II are incorrect / o ble jgiga- 11 5lu jgl -1 glu

[Option ID = 3514]
3. Statement T is correct but Statement ITis incorrect/ — hle—1l 5o S g zumo -1 gl

[Option ID = 3515]
4 Statement I is incorrect but Statement I is correct /| — puo— 1 glu S ) ble -l ylo

[Option ID = 3516]
5)  Given below are two statements

Statement I: In Raynaud’s phenomena lower limb is more commonly involved than
upper limb.

Statement IT: Raynaud’s phenomena is superficial thrombo-phlebitis.

In light of the above statements, choose the meost appropriate answer from the options given
below

4 olu

—ut Jgy Mie a5y wlybl 5 Sbu S Glybl SYL e Raynaud's phenomena
ol [ by

- wigy Superficial thrombo-phlebitis &S ¢ b il Raynaud's phenomena

1 iz Option muzuo aw jle Jud 230 (o wddigy oS Slily b~z 1o
[Question ID = 880]
1. Both Statement I and Statement I are correct /Ly auzeo Goiga- 11 5l j9l -1 olu

[Option ID = 3517]
2. Both Statement I and Statement I are incorrect / Ly hle jgigo- 1l glu gl -1 5lu

[Option ID = 3518]

3. Statement I is correct but Statement ITis incorrect /|  _y hle— 1l glu oS ) ;o -l Glu

[Option ID = 3519]
4. Statement T is incorrect but Statement ITis correct / — o=l gy S o hle -l Gl

[Option ID = 3520]

6)  Given below are two statements
Statement I: Pain, fever and jaundice are features of common bile duct stone.
Statement IT: Septic shock is not a feature of common bile duct stone.

In light of the above statements, choose the most appropriate answer from the options given
below

Ny Silily 93 o Jud

4 gl
u wils Wl SlelMe S By gl yls ) ae Blax Jlg Jls Sb e Common bile duct
gl

- bls Ll i Septic shock 10 8la> S Common bile duct

T iz Option pusuo aw ue Qi 250 e wiligy WS Dbl Vb ~zjais

[Question ID = 881]

1. Both Statement I and Statement I are correct / u aaouo ygigo- I olu gl -l gl
[Option ID = 3521]

2. Both Statement I and Statement II are incorrect / ob bl Geiga- 1l gl jel -1 gl

[Option ID = 3522]
3. Statement I is correct but Statement II is incorrect / ahle-1 gl SU 4 ases -1 Glu

[Option ID = 3523]
4 Statement I is incorrect but Statement II is correct /| = &F=97 ol Ui"l = ble -1 ylu



[Option ID = 3524]

7) Given below are two statements. one 1s labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Goitre is a common disease in mountain region
Reason R : The diet of the people in mountams lack 1odine content
In light of the above statements, choose the correct answer from the options given below
s LS S Reason (R) ¢S ¢« jwgs jol —y LS LS Assertion (A) oS Syl _yu Sy 93 o Jud

Assertion (A) :

- $)lap ple Syl Goitre J3ilg3 1o 9dMe 5l
Reason (R) :
‘=t wig @S HlaEe oS p3eail pae y§lie LS pebubl S yedlle Sl
UJ_}S wxiie option  au=uo w 1o options é Y U ylo ddlg) oS Slilp Vb ~>)dio
[Question ID = 882]
1. Both A and R are true and R is the correct explanation of A /__, 1)S Cobiog uzus oS (R) « (A) ysl «yu g ygigd  (R))gl (A)
[Option ID = 3525]
2.
Both A and R are true but R is not the correct explanation of A / -2 )5 yad Cobog o oS (R) 0 (A) oSW pm 2w usigd (R) ol (A)

[Option ID = 3526]
3. AistruebutRis false /' Kle (R) oSd g (A)

[Option ID = 3527]
4. Aisfalsebut Ris true /' zaw (R) 9 —y knlc (A)

[Option ID = 3528]

8)  Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Carbohydrates provide energy to the body
Reason R : Obesity is caused by excessive intake of carbohydrate

In light of the above statements, choose the correct answer from the options given below

-2 WS LS Reason (R) S < jwg>s j9l s WS LS Assertion (A) o5 Syl - ,w Dbl g3 juo Jud
Assertion (A) :
- wilziy wililed oS > 2y, 34l
Reason (R):
2 Uiy aw 5yS Jlasiuwl 0305 1) 1ilgsy 8 (Uso) byao gaw
S waiie option s aw ae options 38 3 o jae wiidigy S Dlily YU )i
[Question ID = 883]
1. Both A and R are true and R is the correct explanation of A / 1 1)S Sobbg s oS (R) « (A) jol « s gw ysigd  (R))gl (A)
[Option ID = 3529]
2.
Both A and R are true but R is not the correct explanation of A / - )5 yad Sobog mumo oS (R) 0 (A) oS3 o gw usigd (R) jol (A)

[Option ID = 3530]
3. AistruebutRis false /' Kle (R) oS Ly aw (A

[Option ID = 3531]
4. Aisfalsebut Ris true /' gaw (R) )9l —y knle (A)

[Option ID = 3532]

9)  Match List I with List IT

|List 1 List Il



A. The cause of Kasrat-e-Ehtelam is I. Weakness of Quwwat-e-masika

B. The cause of Sailan-e-mani wa maziis |lI. Imtila of body and Kasrat-e-Khoon wa mani
C. The cause of Surat-e-inzal is 11l. Hotness of Mani

D. The cause of Ziyadati-e-shahwat is IV. Coldness of Aaza-e-tanasul

Choose the correct answer from the options given below:

:UJ_)SL-,LL;&J NEud B Euwl

= S
> 94 )9305 IS Suule D153 (1) 1w 8 plis| OyIS (A)
SIS S e 9 g gl cMiel Sy (1) = cuw 5 ooyl 5Myw (B)
D> S e (1) it B T i 1)
Dagp oS Juwlii cbacl (IV) s w S Sgyad widl (D)

udiz Option o aw e Jad 250

[Question ID = 884]
1 (A)-(IV). (B)-(I). (C)-(D). (D)-(ID)

[Option ID = 3533]
2 (AR, (B)-D). (C)HIV). (D)-D)

[Option ID = 3534]
> (A)-m), (B)-(I). (C)-(IV). (D)-(ID)

[Option ID = 3535]
* (A)-(1). (B)-(IV). (C)-(I1D). (D)-(IT)

[Option ID = 3536]

10)  Secretin is secreted by :

sc‘ltljSJéJul{{S(rﬁ__r_)S_moﬂa

[Question ID = 885]
1. Duodenum / spic clifl

[Option ID = 3537]
2. Pancreas [ wldib

[Option ID = 3538]
3. Liver / )33.
[Option ID = 3539]
4. Stomach ; o1%e

[Option ID = 3540]

11)  What is Zoosantaria?

SuR S 95 S i 93

[Question ID = 886]
1. Ishal Balghami / Jlel

[Option ID = 3541]
2. Ishal Khooni / (dg> Jlawl

[Option ID = 3542]
3. Ishal Wabaai / (silg Jlwl

[Option ID = 3543]

4 Ishal Safravi / sglyao Jlawl

[Option ID = 3544]

12)  Given below are two statements
Statement I: Amoebiasis is an occupational disease.
Statement IT: Amoebiasis is caused by inhalation of asbestos dust.
In light of the above statements, choose the correct answer from the options given below

Dot Obly g3 e Jud

= u2re $lig)ls Syl puel 501 ylo



- Asbestos dust n>g S el =yt 11- gl
Ji3 253 lez gy o pae wiidig) S ysily B > 9l
I bz au e Options
[Question ID = 887]
1. Both Statement I and Statement M are true / Ly auzo ggigd- 11 lu gl -1 glu

[Option ID = 3545]
2. Both Statement I and Statement L are false / 1y hle qigo- 1l glu gl -1 glu

[Option ID = 3546]
3. Statement Lis correct but Statement I is false /|, hile—-11 gl oS4 o mmeo -1 gl

[Option ID = 3547]

Statement I is incorrect but Statement I is true / ) o=l Sl S o hle -l gly

[Option ID = 3548]

13)  Given below are two statements. one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Vaccines prevent disease

Reason R : Vaccines must be given to the children

In light of the above statements, choose the correct answer from the options given below

- WS LS Reason (R) oS < jwgd y9l —y LS LS Assertion (A) o5 Syl - u Olily g3 jae Jud

Assertion (A) :

ok IS Jlaziwl A S plgi Sgy S poye gawsug

Reason (R):

st I 98 oz aw yob ol Gy

- uziie option ao aw Lo options é D b o gy oS Dbl VU azHiie

[Question ID = 888]
1. Both A and R are true and R is the correct explanation of A / __, 13,5 Jisliog puzo o3 (R) « (A) jol vy g ygigs  (R))gl (A)

[Option ID = 3549]
2.

Both A and R are true but R is not the correct explanation of A / __, )S 15 Jzbiog mumwe S (R) 0 (A) 5 wpw 2w gigs (R) 9l (A)

[Option ID = 3550]

3. AistuebutRisfalse / pje (R) oS L gw (A)

[Option ID = 3551]
4. Aisfalsebut Ristrue / zuw (R) )l s hle (A)

[Option ID = 3552]
14) Hormones FSH and LH from anterior Pituitary gland act on :

Suw Jgy ylul ¥l LS ww JIS5 aw Anterior Pituitary gland &8 g5 g0y LH 91 FSH

[Question ID = 889]
1. Testis

[Option ID = 3553]

2 Ovaries

[Option ID = 3554]
3. Both Testis and Ovaries

[Option ID = 3555]
4. Adrenal cortex

[Option ID = 3556]

15) Which can differentiate between Seizure and Syncope?

S Ugy 32,07 o Syncope jgl Seizures aw juS sw io Jud g0



[Question ID = 890]
1. Unconsciousness / b )

[Option ID = 3557]

2. Injury due to fall / ligs wa>jyS )3
[Option ID = 3558]

3. Urinary incontinence / llzg) g5 5 Jgu
[Option ID = 3559]

4. Tongue bite 7 Ul &5 S L;

[Option ID = 3560]

16) A patient is Hepatitis HBsAg and HBeAg Positive, which of the following is true about this
patient?

St o IS aw e Jud 3lRie S yaupe gul (g Cule HBeAg jgl HBsAG B yay e S

[Question ID = 891]
1. Acute Hepatitis B

[Option ID = 3561]
2. Hepatitis E infection

[Option ID = 3562]
3. Chronic Hepatitis B

[Option ID = 3563]
4. Co-infection of HBV with HEV

[Option ID = 3564]

17)  Which of the following is mostly used in Suda-e-Haar?

2 Jsaso d) S i S 1> glo

[Question ID = 892]
1. Kushta Musallas / Julis 185

[Option ID = 3565]
2. Qurs Musallas  / 15, uos

[Option ID = 3566]
3. Dawaul Shifa [/ cladl clgs

[Option ID = 3567]
4 Habbe Jadwar /  lgiz w1z
[Option ID = 3568]
18) In which disease. the nafsani organ bearing rooh-e-nafsani stops the functioning of sensorium and
movements, but not completely?

Subd 31 )9b <51 8o 1 wind Sgy aw JInsl plai S TSy> g gz oy gt wilwidi zg) yao 52 o5 bacl (ilwdi yue ybys guS

[Question ID = 893]
1. Sara /[ &2

[Option ID = 3569]

2. Sakta / i

[Option ID = 3570]
3. Raasha / ~aic)

[Option ID = 3571]
4. Isterkha / cl5iwl

[Option ID = 3572]

19)  Most commeon form of Arthritis is :

St ple vy 40y B ygiez LuigS aw puo Jid )0

[Question ID = 894]
1. Rheumatoid Arthritis

[Option ID = 3573]
2. Psoriatic Arthritis

[Option ID = 3574]
3. Seronegative Arthritis

[Option ID = 3575]



4. OsteoArthritis

[Option ID = 3576]

20)  Which of the following is the most common presenting symptom of non-cirrhotic Portal
hypertension?

wuligS au 1o U 23 4o Non-cirrhotic Portal hypertension

S wigy ple aw cw Colce

[Question ID = 895]
1. Chronic liver failure

[Option ID = 3577]
2. Ascites

[Option ID = 3578]
3. Upper gastrointestinal bleeding

[Option ID = 3579]
4. Endoscopy

[Option ID = 3580]

21) Which among the following is characteristic of Osteoporosis?

ol S ~S oS S Osteoporosis o Ji3 ~z)lie

[Question ID = 896]
1. Deerease in bone mass

[Option ID = 3581]
2. Decrease in marrow content of bone

[Option ID = 3582]
3. Decreased mineralization of bone

[Option ID = 3583]
4. Softening and deformity of bone

[Option ID = 3584]

22) Loss of Quwwat-e-his 1s known as :

Sk S IS 95 Jlgy S puz Dgd

[Question ID = 897]

1. Falij/ &b
[Option ID = 3585]

2. Isterkha / <l yiwl

[Option ID = 3586]
3. Khadar / 2>

[Option ID = 3587]

4. Laqwa/ oagdl

[Option ID = 3588]

23) Gilbert syndrome is a disorder of :
S walyz S S aw e Ju3 Gilbert syndrome

[Question ID = 898]
1. Protein metabolism

[Option ID = 3589]

2. Bilirubin metabolism
[Option ID = 3590]

3. Lipid metabolism
[Option ID = 3591]

4. Fructose metabolism

[Option ID = 3592]

24)
Which of the following is a big pointed eruption with a small nodule of pus in the center named
“Ummul Qayyuh™?

o ow 08 Sl S maz 0340 a0 g Sal gy SU 3y e il ol 2w yre IS5) 92 oy gy oS JSiD Spgo jol S5 Sl g8S aw pae Jud 2)d
ok S il el pus o WSl



[Question ID = 899]
1. Dubeela / ~lu>

[Option ID = 3593]
2. Aakla / 181

[Option ID = 3594]
3. . Dummal/ a5

[Option ID = 3595]
4. Khuraaj / el

[Option ID = 3596]

25) “An Autosomal dominant disorder. in which patches of skin totally devoid of pigment are
present at birth and usually remain unchanged throughout life”.

The above description belongs to :

"y it s Sl gl Gy Jgr sl g2 G S S e 3y Al e us Autosomal dominant disorder Syl

S 3lmio S S aw o gl Vb nz)ine

[Question ID = 900]
1. Nevus depigmentosus

[Option ID = 3597]
2. . Vitligo

[Option ID = 3598]
3. . Piebaldism

[Option ID = 3599]
4. Albinism

[Option ID = 3600]

26) In which of the following disease the skin of the scalp becomes soft with soft feather and silk like
haris?

Sun Jlogy ey 2yb S eyl gy JU j9l b gy pgle oy Culs U> S qw yae yoye S aw e Jid 22

[Question ID = 901]

" | Daaul-Hayya / ~=dl<b
[Option ID = 3601]

2. Daa-us-Sa’alb / «ul=ill cl>

[Option ID = 3602]
3. Sa’afa / ~0%uw

[Option ID = 3603]
4. Tllat-un-Nuama / ~oRil 2lc

[Option ID = 3604]

27) What 1s the aetiopathology of Bars?

A. Change of Mizaj of the organ to Barid
B. Ajsaam-e-Khabisa
C. Insufficiency of Quwwat-e-Mughayyara

D. Qillat-e-Dam
Choose the correct answer from the options given below:

St S wnope le S Yoy
Uss 35l 5S Jus 2lye IS quaac (A)
~ps pluzl (B)

cams IS oo Jgi (C)

ol &0 (D)

D iz option o aw Gae Sblgz Jid 250



[Question ID = 902]
1. (A)and (B) only

[Option ID = 3605]
2. (A) and (C) only

[Option ID = 3606]

3. (B) and (D) only

[Option ID = 3607]
4. (A) and (D) only

[Option ID = 3608]

28) Match List I with List IT

List I List IT

A. Imbaat-e-Sha’ar I. Roghan Aamla. Roghan Lala

B. Halag-us-Sha’ar II. Roghan Zaitoon Kuhna, Zarareeh
C. Tasweed-us-Sha’ar  |III. Choona. Hartaal

Choose the correct answer from the options given below:

:UJ_)fL'Jllo,iu &wd B Eual

o i
N, WL el o
anhs st oeey (1) il Gl (B)
JU3y g2 (1) il 3y g (O)

Doz Option pzuo aw jao Jud 20

[Question ID = 903]

T (A)-(I). (B)-(ID). (C)-(1II)
[Option ID = 3609]

L (A, (B)-(I). (C)~T)
[Option ID = 3610]

3 (A)-I). (B)-(ID). (O)-(T)
[Option ID = 3611]

4 (A)-(ID), (B)-(D. (C)-(I)

[Option ID = 3612]





